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1.

2.

3.

4.

5.

6.

'•^.1^^.13;. 3#^ -stttm
%H%lpfpT"^5nqT?

(2) ftr^FT

(3)

(4) j^«hC1IS 3ik

««l^ichi<< feh«ehl =n1(^ichi TH^?

(1)

(2) -qi^

(3) «hq<t)

(4) ^

Wrt ^ ^ ^ 3Rm ^ frmI ?
(1) ^Sd -ails

(2)

(3)

HI ^ % -urnITSftl ^ ^RcJT

t?

(1) DNA ^ [s^Sdl 3T?TI^ "I" I
(2) 3T3^^ ^ 11

(3) DNA ^ T?r %I

(4) DNA5?AfCTMifWT(Ttl

•fW^Tfe^ ^ ^ i^ri ^hfWsif-g^ ^ ihn t ?
(1) ttTW

(2) •Jii§<nH *j<tji'=t>

(3)

(4) ^

|Hlndl*&i9lteh|

1. The final proof for DNA as the genetic material caine
from the experiments of:

(1) Hargobind Khorai\a

ja)- Griffith

(3) Hershey and Chase

(4) Avery,Mcleodand McCarty

Spliceosomes are not found in cells of:

(1) Bacteria

(2) Plants

(3) Fungi

(4) Animals

The pivot joint between atlas and axisis a type of;

(1) saddle joint

(2) fibrous joint

cartilaginous joiiit_^

(4) synovial joint

4.^ The association of histone HI with a nucleosome
indicates;

(1) The DNA double helix is exposed.

(2) Transcription isoccurring^
(3) DNA replication is occurring.

(4) The DNA is condensed into a Chromatin
Fibre.

^ Which of the following is made up of dead cells ?
(1) Phloem

(2) Xylem parenchyma

(3) Collenchyma

(4) Phellem

Select the correct route for the passage of sperms in
male frogs:

Testes -» Vasa efferentia -> Kidney -»
Bidder's canal Urinogenital duct -»
Cloata

(D

(1)

(2)

(3)

(4)

'5nfM->

.l^-vFTT Wff^-» 3T^i5R

°[^ -> ^ -f ^?PT
TJ^-'3FH Ojlfgll —^ 3<C1<^<

T^srarf?^
—i •»iq'W5<

I

(1)

(^)

(4)

Testes Bidder's canal —> Kidney —> Vasa
efferentia—* Urinogenital duct—»Cloaca

Testes Vasa efferentia -» Kidney ->
Seminal Vesicle —» Urinogenital duct -f
Cloaca

Testes -* Vasa efferentia -» Bidder's canal

Ureter—» Cloaca



7. •SRqrtlRcf

^ ^TrfT/^ t ?
(a) ^
(b)

(c) dsiwci<< ctj^nl I

(d) FT^ W?r 37mfT^ ^P!IF 3fN#3R %
Ihtt ^H<n««ir %i

I^«»»c^ :

(1) (b)V^(c)

(2) %^(d)
(3) %^(a)
(4) (a),(c)TJ^(d)

(1) 1¥m=t y^iRj-iil' %^3Tf %w SRT
(2) ^ •=T^ % %WT -gm
(3) ^ it H??! % srMVct •q^aqf %w? gRi
(4) % 'HTFT IRf

9. •RH^'mk^f"^#3TcT;'^Tl^lff^

(1)

(2)

(3)

(4)

3TSIH"Pi¥

fsPl^^crl TT^

"flfleh ffe

10. f^TffS; ^ f^TsI t :

(1) •^"!it^3TI^%RNA3f^^tl
(2) lfr^«fI^%HraDNA37^^tl
(3) •^3jl€k3iigTVI%DNAdT^'#tl
(4) 3il^3TRTnT%-5naTRNA3T^^tl

11. r4>^cf,l Hg7 ^J|| 7

(1) ADH

(2) "^fni (Renin)
(3)

12. •pfoF^ ^«ild ^ ^ ^ ?

(1) i^l4il'll4il
(2) 'id)\<^l
(3) c//V=#/qW

(4) ^«)/5/w

Adult human RBCs are enucleate. Which of the
following statement(s) is/are most appropriate
explanation for this feature ?

(a) They do not need to reproduce

(b) They are somatic cells

(c) They do not metabolize

(d) Alltheir internal space is availableforo)^gen
transport

Options:

(1)

(2)

(3)

(4)

(b) and (c)

OnIy(d)

Only (a)

(a), (c) and (d)

Homozygous purelines in cattie can be obtained
by:

(1) mating of individuals of differ^t species,

mating of related individuals of same breed.

(3) mating of unrelated individuals of same
breed.

(4) matingofindividualsofdifferentbreed.

A temporary endocrine gland in the human body

10.

IS:

(1)

(3)

(4)

Corpus allatum

Pineal gland

Corpus cardiacum

Corpus luteum

Viroids differ from viruses in having;

(1) RN A molecules without protein coat

(2) DNA molecules with protein coat

(3) DNA molecules without protein coat

(4) RNA molecules with protein coat

IIX A decreasein blood pressure/volumewiU not cause
the release of:

(1) ADH

Renin

(3) AtrialNatriirretic Factor

(4) Aldosterone

12|̂ ^An example of colonial alga is:
(1) Spiro^ra

(2) Chhrella

(3) Volvox

•U^ Ulothrix

i ii -k^ i i II

IP

fl
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13.

14.

15.

%711^ MFT ^ "MrrJISF "5?^ ^ t ?

(1)

(2)

(3)

(4)

"3^% Sro <5r4ic, % "if^fT ^*7
•Etfe^t?

(2) lf/Wd//;«Rl'5iR^4>
(3) : etPctict,

(4) ^-iWrd^H it^: tj.4ini»

-1 '^' iMfer fr^ shK^r

(-II) % ^ ^

(i)

(ii)

(iii)

(iv)

(a) (b) (c) (d)

(1) (iv) (iii) (ii) (0

(2) (ii) (iii) (iv) (i)
(3) (iii) (iv) (i) (ii)
(4) (iv) (ii) (iii) (i)

II

HIV

16. ch^ll'»T •illwRd t,

17.

0)

(2)

(3)

(4)

•aiTTw^i

-q -fetrr w ?

(1) ^ -• ^

(2) ^ ^ ^
(3) - llfsM ^ iTf8T?RfW9
(4J - 'F^ "ifT

|HincH*En^

13^ The morphological nature of the edible part c
coconut is:

(1) Pericarp

(2) PerLsperui

(3) Cotyledon

Endosperm

14. 9 Which oftl\efollowing is correctlymatchedfor th
productproduced by them ?

(1) Sacchromyces cerevisiae :Ethanol
Acetobflcfcracefi: Antibiotics

(3) Methatwbacteriiau :Lactic acid

(4) PemcilUtiin noMum: Acetic acid

pX^atch the following sexually transmitte
diseases (Column - I) with their causative agei
(Column - II) and select the correct option.

(a)

(b)

(c)

(d)

Column -1

Gonorrhea

Syphilis

Genital War

AIDS y

Options:

(a) (b) (c) {d)

(iv) (iii) (ii) (i)

(2) (ii) (iii) (iv) (i)

(3) (iii) (iv) (i) (ii)

(4) (h/) (n) (iii) (i)

Column - II

;i) HTV

y(ii) Neisseria

(iii) Treponema

•) Human
Papilloma-Vin.

In case ofporiferans, thespongocoel is lined wi
flagellated cells called:

(1) mesenchymal. cells

ostia

(3) oscula

(4) choanocytcs

Among the following characters, which one w
not considered by Mendei in his experiments
pea ?

("IJ Pod -Inflated orConstricted
(2) Stem-TallorDwarf

Trichomes - Glandular or non-glandular

(4) Seed - Green or Yellow
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18. f^HfdHsid ''1^ ;

(1) fdPii^«Ki clc^ ^ ^

(2) shl4Pi«t) ''!jini=h «RT'^"3n^f

(3) ^ "fz^TT^ fr^ t

(4)

19.

20.

21.

22.

23.

DNA 3Tfc6|;j||ct>l ^ "^gRf

t?

(1) Ps^ina "q^ wgrrmt ^

(2) yRi^frt fs«ii<9 ^ cR^ aTOT ^

(3) 3lfiTf^1|?in3^WR"q?Wft^5?F5^
(4)

(1)

(2)

(3)

(4) yPd^Jiin^cn

ftR ^ ^ RNA W'ft c»i5f!»!«M y^WI #n

(1) mi-RNA

(2) r-RNA

(3) t-RNA

(4) m-RNA

•qi^, sTf^sq^ afiT
^•^<^><."1 yfshHi «rM %?

(1)

(2) 3?flfWF3i97cpiI

(3) yjhHui

(4) ^«st.iju|

^37f TtWT^ f 3TO#3rT % ^

(!)

(2)

(3)

(4)

HIM*

Identify the wrong statement in context of
heartwood:

(1) It comprises dead elements with highly
Ugnified walls

(2) Organic compounds are deposited in it

(3) It ishighly durable

(4) Itconducts waterand minerals efficiently

During DNA replication, Okazaki fragments are
used to elongate:

Thelaggingstrand away fromthe replication
fork.

(2)

(3)

(4)

The leading strand towards replication fork.

The lagging strand towards replication fork.

The leading strand away from repUcation
fork.

Mycorrhizae are the example of:

(1) Mutualism

Fungistasis

(3) Amensalism

(4) Antibiosis

21. Which of the following RNAs should be most
abundant in animal cell ?

c^Jf^mi-RNA
(2) r-RNA

(3) t-RNA

(4) m-RNA

2^ The process of separation and purification of
£ expressed protein before marketingiscalled:

PostprodUction processing

(2) Upstream processing

(3) Downstream processing

(4) Bioprocessing

Whichamong the followingare the smallesthving
cells, knownwithouta definitecellwall,pathogenic
to plants as well as animals and can survive without

oxygen ?

(1) „ Nosloc

BaciUu%^^

(3) Pseudomonas

(4) Mycoplasma

'iiHki. ilf-



24.

(2)

(3)

(4)

25. ^^ ^ ^ ^

RnRillsm # -^n WT Ti^ •=r^ t ?
(1) sRo'J? •+'Wc1 %'̂ I^, "SSf •'̂ 1%

%1^ CO2 ^ -STini -STT
t

(2) CO2 IwffWRW %%15 WI?! ••H'̂ Pkl ^ •?j4

(3) c^l^iH^diAl CO2 ^ TOT 0.05% ^ ^ ^
•^Tf CO2 %Rt^ ^ ^t

(4) C3 "TT^q ^ fliHHH ^ •gfh^fT^ if ^ ^3TT
f Tjf^ C4 wrf %i^

i^:HiT WFT ar^yif^ cCTqt-EFET iRri t

26.

27.

28.

1^"9Wt 3F7i^ ^

(2) •q?TI?^, ^ (Rennin)
(3) T^iTu^, PdrmnlMiH, -RT^

(4) -^fc^, ^ (Rennin)

(2)

(3) - T^%^5nfq +

(4) ^I?t^i3nfij = "q;qti^5nfq +

^ sm.-^.\ if 999 TO f ^ 333 ^
•'13' 3?!^ %• ^ 3ff7 901 tr^ ftsi3

yR^^ ^ 1'3¥T aiR.T^R."^.
^ 998 8JR^^ 3T1^ tl ^

(1) 333

(2). 1

(3) 11
(4) 33

Which ofthe following components provides stick
character to the bacterial cell ?

Glycocalyx

(2) CeUwall

(3) Nuclear membrane

(4) Plasma membrane

With reference to factors affecting the rate c
photosynthesis, which ofthefollowing statement
is not correct?

(1) Tomato is a greerJiouse crop which can b
grown in CO2 - enriched atmosphere fo
higher yield

(2) Light satiii'ation for CO2 fixation occurs a
10% of full sunlight

(3) Increasing atmospheric CO; concentratioi
up to 0.05% can enhance CO2fixation rate

(4) C3 plants respond to higher temperatures
with enhanced photosynthesis whil«
C4 plants have much lower temperatur«
optimum

TAy' Which of the following options best represents the
enzyme composition of pancreatic juice ?

(1) lipase, amylase, trypsinogen,
procarboxypeptidase

^^^2) amylase, peptidase, trypsinogen, rennin
(3) amylase, pepsin, trypsinogen, maltase

(4) peptidase, amylase, pepsin, rennin

27y^ Which one of the following statements iscorrect
with referenceto enzymes ?

Holoenzyme = Coenzyme + Co-factor

(2) Apoenzyme = Holoenzyme + Coenz>'me

P) Holoenzyme = Apoer\zyme + Coenzyme
(4) Coenzyme = Apoenzyme + Holoenzyme

^ If there are 999 bases in an RNA that codes for a
protein with 333 amino acids, and the base at
position 901 is deleted such that the lengthof the
RNA becomes 998 bases, howmany codons will be
altered ?

(1) 333

(2) 1

(3) n

(4) 33
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29. -3^;

(1) K<N

(2) 'r' tTTT ^ipf ^ <rn> -aTIWT
(3) K = N

(4) K>N

30.

31.

33.

34.

a)

(2)

(3)

(4)

- T^FfWrnenft

- ii<^>rd'!i>n41

fapsfTRlsnui

•OtRtfCT (APC) ^ WW "if
^ #r % %TT

APcgfe^

(1) ^gff i^H4Tv»IH '̂W

(2) ynPid #r

(3) oTsd ^ "sntfit

(4)

32.

{1)

(2)

(3) •srra irrfcfii

(4) cTM 4ff<fl5(

Rh^ew %?

(1)

(2)

(3)

(4) jr^fm

r HypersecreHonofGrowth Hormone in adults does
^ not cause further increase in hpiffht.hpraiisf

(1)

(2)

(3)

(4)

'^fe tfirN Pi^wxi ^ "snrn i

•snritti

I

O) Asymptote in a logistic growtii curve is obtained
when:

(1) K<N

(2) The value of Y approaches zero

(3) K = N

(4) K>N

30^ Selectthe mismatch:

(1) Equisetum

.J^ Pinus

(3) Cycas

(4) Salvinia

Homosporous

Dioecious

Dioecious

Heterosporous

^3)y Anaphase Promoting Complex (APQ is a protein
degradation machinerynecessaryfor proper mitosis
of animal cells, if APC is defective in a human ceil,
which of the following isexpected to occur ?

(2)

(3)

(4)

Recombination of chromosome arms will

occur

Chromosomes will not condense

Chromosomes will be fragmented

Chromosomes will not segregate

Which ecosystem has the maximum biomass ?

(1) Lake ecosystem

(2) Forestecosystem

(3) Grassland ecosystem

(4) Pond ecosystem

Zygotic meiosis is characteristic of:

Chlamydomonas0)

(3)

(4)

Marchantia

Fucus

Funaria

not cause further increase in height, because:

(1) Musclefibresdonotgrowinsizeafterbirth.

Growth Hormone becomes inactive in adulte.

Epiphyseal plates close after adolescence.

(4) Bones loose their sensitivity to Growth
Hormone in adults.
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35.

36.

37.

38.

8
|mridi*EngliL

TOg's heart when taken out of the body continui
to beat for sometiine.fl«h T5?U%I

1^^«rTt' "^f "^NcT ^ +*lf^M, I

(a) ^"®«b i<«h •siyHfllHl %l

(c) '̂ ^ft^rPra H^Ia ^ ?l?ti %I

(d)

fqehCN :

(1) {c)^id)

(2) %^(c)

(3) %^(d)

(4) (a)T?^{b)

<w xlciys"! 3Tf^ttin<. i'Fl % jfiOi gKi
% •^iRW 3RPTi^ ^ wrar SI IRiR % fRRiTOI %
fwk. 1^*1 ^ «tH<^I<4l

(2) i^-3TfcR9t >n3l»"4t

(3) -stfiR^ ar^f^

(4) ^MhH

^i<j^<flrH4|I l^cf^ 4>1fj!l«hl 'criif^H 31^ %
^ ^ Idf«W <h>41 qMI

+lf<>li<l

(1) ^ 3T^ if Wnril^
^FRTi% «f)R^ ^(TT ^ I

(2) ^ ^ %
I

•^tl

^4l4)T3i, ^ ^

(1)

(3) 3T '̂ia<n -Tf^rail nf^ehi

(4) fl?53^ ITFRt

35.

Select the bestoption from the following statemenl

(a) Frogisapoikilotherm.

(b) Frog does not have anj coronary circulatio

(c) Heart is "myogenic" in nature.

(d) Heartisautoexcitable.

Options:

tilK (c)and(d)

(2) Only (c)

(3) Only(d)

(4) {a)and(b)

Transplantation of tissues/organs fails often di
to non-acceptance by the patient's body. Which tyj
of immune-response is responsible for sue
rejections ?

(1) I'hysiological immune response

Autoimmune response

(3) Cell - mediated immune response

(4) Hormonal immune response

Thalassemia and sickle cell anemia are caused di

to a problem in globin molecule synthesis. Sele
the correct statement.

(1) Sickle cell anemia is due to a quantitati^
problem ofglobin molecules.

(2) Both are due to a quaUtative defect in glob
chain synthesis.

(3) Both are due to a quantitative defect in glob
chain synthesis.

(4) Thalassemia is due to lesssynthesisof glob
molecules.

An important characteristic that Hemichordah
share with Chordates is:

(1) pharynx without gill slits

(2) absence of notochord

ventral tubular nerve cord

(4) pharynx with gill slits
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39. gKI r4i^4l ^Idl t?

(1)

(3) ^qnn

(4)

Tf ^ fn ^.^.•qt. -^Hi^ %
^ fT<Wi?rt % %TT <iti<(i)4) #TT

41.

42.

43.

44.

t?

(1)

(2)

(3)

(4)

<n'it'=tiiM

•pT: % "511^ ^ ?

(1) fTrTWT-gtfycIdTTWr

(2) 3raf^3Tra^

(3) 3T?l:?5RRl^fWI3Tl^

(4) 3Tiq?H

3?!^

%•jBi, 3T5i?nT ^f "i^EF t afk ^ T<^
^STSrq if •sf^ t, ^
t?

(1) wn^

(2) ^

(3)

(4) ^

<<«)<»/'/« 3^ ^ ?

(2) ajj/JM+i, rs-/uM'l^

(3) tS^NcfnT, aFjif^-llgfTiicrgft
(4)

40.

Double fertyization in exhibited bj':

(1) Angiosperms

(2) G)Tnnospenns

(3) Algae

(4) Finigi

Which of the following cell organelles isresponsible
for extracting energy from carbohydrates to form
ATP?

(1) Mitochondrion

(2) Lysosome

(3) Ribosome

Chloroplast

Jls^ Lungsaremadeupofair-filledsacs,thealveoli. They
do not collapse even after forceful expiration,
because of:

(1) Expiratory Reserve Volume

Residual Volume

(3) IiispiratoryReserve Volume

(4) Tidal Volume

^4^ Which ofthefollowing arenotpolymeric ?
(1) Lipids

Nucleic acids

(3) Proteins

(4) Polysaccharides

43v/^ Flowers whichhavesingleovulein tfie ovaryand
are packed into inflorescence are usually poQinated
by:

(1)

(2)

(3)

Bat

Water

Bee

Wind

Life cycle of Ectoci!rpu$ and Fticus r^pectively
are;

(1) Haplodiplontic^Haplontic

(2) Haplontic, Diplontic

(3) Diplontic, Haplodiplontic

(4) Haplodiplontic, Diplontic

1

I
1
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45.

46.

47.

48.

2Q |HirKti*Engli5^

45j/ Presenceofplantsarran^d intowelldefined vertical
layers depending on their height can be seen best
in:

(1) Temperate Forest

(2) Tropical Savannah

Tropical Rain Forest

(4) Grassland

"cf •qi^ smt

% •dHfwIcl •3T^t jIT ^«tifl'i %?

(1) •^fhif®!^

(2)

(4) "SIRT 'jft

, ^ ^•^. Phosphoenol pyruvate (PEP) is the prunary COjrn-TlKt«5 acceptor in;T3^3fT8riiTZFC02'ai?tt?
(1) C3 3fR C4 W1

(2)

(3)

(4)

C4-qi^

3T^ HiT"q^%•trqto gfrnf^ TR

(a) ^ A%c^c<|9i f I

(c) A'̂ TT^^tqsrti

(d) ^ yefti^itciulchl ^ -gw
»nnti

(1) (b),(c)Ti^(d)

(2) (a)T^^Cb)

(3) (a),(c)-^(d)

(4) (a)i^g(c)

^ 8}t?

(1) 1870 -1877

(2) 1856 -1863

(3) 1840 -1850

(4) 1857 -1869

49. tifeT :

(2)

(3)

(4)

(1) C3 and C4 plants

v-^ C3 plants

(3) C4 plants

(4) C2 plants

47^ Good visiondepends onadequate intake ofcarotene-
^ richfood.

Select tl\ebestoptionfromthefollowing statements.

(a) Vitamin A derivatives arc formed from
carotene.

(b) The photopigments are embedded in the
membrane discs of the inner segment.

(c) Retinalis a derivative of Vitamin A.

(d) Retinal is a light absorbing part of all the
visual photopigments.

Options:

(1) Cb),(c)and(d)

(2) (a)and(b)

_(3i/ (a),{c)and(d)
(4) (a)and(c)

Whichone from those given below i.-; the periodfor
Mendel's hybridization experiments ?

(1) 1870 -1877

1856-1863

(3) 1840-1850

(4) 1857-1869

Select the mismatch:

(1) Rhizobiuvt

Fratikia

(3) Rhodospirillum

(4) Amhaern

Alfalfa

Ahtus

Mycorrhiza

Nitrogen fixer

. Ik
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50.

11

51.

52.

53.

54.

55.

II^

(1)

(2) gigWFI

(3) ^-wm

(4)

X55) '̂ '7% "3^ ^
•3^1^ fpTi^ Pi^-qi ^ irt a«h*il«h sf^ci ?

(1)

(2)

(3)

(4)

3m:7mf9n?iypTmvTi

sfRTPt

(1)

(2) lite, "sMn^, ?n%

(3) tf*T, prik

(4) ^TdRhH, ^

^ ^tRT %?

i<«»> HWH Tf «f)i4<Flcn I '̂̂ if^fl
ilctrt?

(1)

(2)

(3)

(4)

^pirjpsr

IjW-^

(1) iq"HWia«h1

(2) Tjftq^

(3) sNN^

(4)

t?

(1)

(2)

(3)

(4)

3^"RWI^

?3fgnR 3^k?OTcT3®1twm

rwFT^-qrf^r^

y5D»^ Attractantsandrewardsarerequiredfor:

Qeistogamy

Anemophily

(3) Entomophily

(4) Hydrophily

In case of a couple where the male is having a very
low sperm count which technique will be suitable
for fertilisation ?

Intracytoplasmic sperm injection

(2) Intrauterine transfer

Gamete intracytoplasmic fallopian transfer

(4) Artificiallnsemination

Which among these is the correct combination of
aquatic mammab ?

(1) Trygon,Whales, Seals

(2) Seals, Dolphins, Sharks

(3) Dolphins, Seals, Trygon

(4) Whales, Dolphins, Seals

Functional megaspore in an angiosperm develops
into:

0)

(2)

(3)

(4)

Embryo

Ovule

Endosperm

Embryo sac

54. Root hairs develop from ihe region of:

(1) Meristematk activity

(2) Maturation

Elongation

(4) Root cap

A dioecious flowering plant prevents botfj:

(1) Qeistogamy and xenogamy

(2) Autogamy and xenogamy

(3) Autogamy and geitonogamy

(4) Geitonogamy and xenogamy
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56.

57.

58.

59.

60.

22 |Hindi»Entfi8h|

=F>^ STRfl %? Thehepatic portalveindrainsblood toliver from:
(1) Intestine

(3) Stomach

_J4) Kidneys

What is file criterion for DNA fragments movement
on agarose gel during gelelectrophoresis ?

(1)

(2)

(3)

(4)

sniWT

^ %^fTR ^TKt^ -qr
73^ ^ 71^ % ^ ^-irn^ ^ ?

(1) ^uilcN<+> JlRlHH ^

(2) aT^^nf^"5it3Tm^;gu5,3rJr^!Tf^^i!M
(3) 3T^«f!fc! '̂3irai

t

(4) aiT^Hiw laTis
•sncrrt

if ^ "5?if<n t ?

(1) ^

(2)

(4) "^i^cTO

-fif ^ ^-SFtmR^ f ?

(1) ^ ^ 4.^1 rid CoA) %

WTT snrnr13fR
Rh( '̂*i 3?^ «b<fll %

(2) ^ if^T f^afl' NAD+ ^T
NADH +H+ Tf^^^ftgrroiWrt

(3) ?^"^ifTJ^1^^FAD+ ^FADHz"^
• '̂il«t><yi t

(4) '̂Htir-id CoA ^ sm ^ ^RcIJh %

GTP % 3T^ ^ t

3Tf^^ ^ ^ Tt^ff ^ 3ir<F ^ 1^fpn
^ ^TrftTT t ?

(1) r^c^\{<h ^

W[ if cT$3UT(2)

(3)

(4)

Ri^llcq* c!<<J|

if

=Hlff+ ^ ^ ^ if

t, 3lf^ -Qcf ^
^^K-i ^1

a)

(2)

(3)

Negatively charged fragments do not move

The larger fiie fragment size, the farflter it
moves

The snudler the fragment size, the farther it
moves

Positively charged fragments move to farther
end

L58r- Which of tf\e following represents order of'Horse' ?

(1) Ferus

Equidae

(i) Perissodactyla

(4) Caballus

Which statement is wrongfor Krebs' cycle ?

(1) The cycle starts with condensation of acetyl
group (acetyl CoA) with pyruvic add to yield
citric acid

(S2-

O

(2)

(3)

(2)

(3)

(4)

There are three points in the cycle where
NAD"*" is reduced to NADH+H"*"

There is one point in the cyclewhere FAD*
is reduced to FADH2

_(41-^During conversion of succinyl CoA to
succinic acid, a molecule of GTP is
s)mthesised

Artificial selection to obtain cows yielding higher
milk output represents:

(1) stabilizing followed by disruptive as it
stabilises the population to produce higher
yielding cows.

stabilizing selection as it stabilizes this
character in the population.

directional as it pushes the mean of the
character in one direction.

disruptive as it splits fi\e population into two,
one yielding higher output and the other
lower output.
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61.

62.

63.

64.

65.

66.

^ ^ ^ ^ if•gWf
t 3fR ^ •irm sfJt ^ Trf^ti ^ sfiin ^

=t>gdldl t?

(1) •g=T:WPTr ^

(2)

(3)

(4)

(1) •'T?^ I^cnl if

(2) 31T?Fif r^Perrliif if

(3) t|l^ ^

(4) cffl?^^%%CfTR

•qtIT WTF^cI: ^PTT^^t?

(1) mRc^*

(2) WT3T?<tT

(3)

(4) •Jii§crlH

•Qi^iif "S^f^rfnnTT! I
^ "R^SFT tR •'TFTIW1^ %
•^^1 l^^'gfRtsfriaTfi^Sr?
(1) -cleluich

(2)

(3) K=T?P

(4) aro-^cJu!-#.

^3 n»iflii "?taT %?

(1) 3tf^

(2) ^

P)

(4) 3rftT '̂tTT=5'Q3>" '̂̂

% <a"s ^ ?

(1) ^ 3TTI% ^im^ % 315?TPC ywrgr -m •SljniTcq^

(2) «iRTO3Tl%f^

(3)

(4) 4<;i«ili

61. / The region of Biosphere Reserve which is legally
'— protected and where no human activityis allowed

is known as:

(1) Restoration zone

(2) Core zone

,_ Bufferzone

(4) Transition zone

Receptorsitesfor neurotransmitters are present on:

(1) post-synaptic membrane

(2) membranes of synaptic vesicles

(3) pre-synaptic membrane

t_(4)^ tips of axons

y
63. The vascular cambium normally gives rise to:

j^l^^-^eriderm

(2) Phelloderm

(3) Primary phloem

(4) Secondary xylem

Ababyboyagedtwoyearsisadmittedtoplayschool
andpassesthroughadentalcheck-up. Thedentist
obsMvedthat ttieboy had twenty teeth. Whichteeth
were absent ?

(1) Molars

(2) IndsoTS

(3) Canines

Pre-molare

^^.^The water potential ofpurewater is:
(1) More than one

(2) Zero

(3) Less than zero

(4) More than zero but less than one

V6fi_.--^NA fragments are;

Either positively or negatively charged
depending on their size

(2) Positivelycharged

(3) Negatively charged

(4) Neutral

-- -rr:

&
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67.

(1) MK'i -flu

(2) -Jllfd^)!

0) 3#^

(4) ^sfi

(1) ^ •STStr^TsH ^ yqfHci f I

(2) ^ ^57^3^ ^ ^irrtJ^Udtll T '̂ Wi
•^f t

(4) ^ tPPT % ^ ^ f

69. ^ T33r ^FW^Fr ^

H^-qii if ^l?FTcII epliclt t ^ ^ ^ 'sncn f ?

(1)

(3) W?^

(4) i^r^.g

70. >1^1'wTd % •#, ftnldRsid if ^ ^ tTPT
^f?

"STMl^ sitncl f

(2)

71.

72.

(2)

(3)

(4)

(3)

(4) "fli e(iKU| ^ ac^l '̂̂ cll ^ «}5f^"^f

1^ ^ ^TSTT t ?

(1)

WTRrti

HKi ^ -Hiilel y-Jii '3i<n%ftn^<Hijk'|i^%i

ti

^ 3TRI^ ^ ^ T^nnwf ^ I

•pF#lfefT ^ -^n c^r^dMd "3^^ if
<}1<h1 f^<»)innt ^ ?

(V

(2)

(3)

(4)

3TFf^'3q^

14

Capacitation occurs in;

-—FemaleReproductive tract

(2) Rete testis

f3) Epididymis

(4) Vas deferens

c^ST' The function of copper ions in copper releasing
lUiysis:

(1) They inhibit ovulation.

(2) They suppress sperm motility and fertilising
capacity of sperms.

(3) They inhibit gametogenesis.

>..,^1^ They make uterus unsuitable for
implantation.

gene whose expression helps to identify
transformed cell is known as:

(1) Structural gene

(2) Selectable marker

(3) Vector

,_J^ Plasmid

Which oneofthe following statements isnotvalid
for aerosols ?

(1) Thty havenegative impact on agricultural
land

(2) They are harmful to human health

(3) Theyalter rainfall and moiBoon patterns
(4) They cause increased agricultural

productivity

Which of the following statement is correct ?

(1) The descending limb of loop of Henle is
permeable to electrolytes.

(2) The ascending limb of loop of Henle is
impermeable to water.

(3) The descending limb of loop of Henle is
impermeable to water.

{§y The ascending limb of loop of Henle is
permeable to water.

Whichof the followingin sewagetreatment removes
suspended solids ?

(1) Sludge treatment

(2) Tertiary treatment

r-fsT' Secondary treatment
(4) Primary treatment

IHIntftEnfllWil
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73. 3neRZR) 6l^4l^dfH<+) GnRH 1^

(1) "q^ llf^ LH %WTf
"3?rf^ 11

(2) ^ Ti^ 3flT LH "q;g 3fi=Rftzfi^ %
^ <i^rH(1 '+Wl %I

(3) 3Trr^t?i?Tfrsi^3?kLHT:^reH^^am^
«t><CII %I

(4) ih$s"iffti "tR 3% FSH %

74

75.

76.

77.

t?

(1) "gR "ghf^aff ^ chlR(i=hi-f^ •£[

(2) ^ WWdif^

(3) ^ •^nfWatf ^ -FRtfa cFift

(4) SIT ^ *ir5!l4.l~f^

^ ^ ^ I^lB TTcf lAj f I
«r5^ % "^if^ MTl*lliil5W

imf ?

(1) 4^#itaf^; 4Vhfl^

(2) 3 ; 3

(3) 3^NteTFT; 4'SfNtZI|q

(4) 4»{1hV|̂ M; 3

13|1?I^ WF-'^ ^ "Sc^^ ^ tTm iTSftcnRm
<;jfA P»*-iRrtRaa ^ ?

(1) ''i>fci)<(f^

(2)

(4)

(1) •H^1*<u|

(2) "qifWrfif^-^f^WcTT

(3)

(4) •^nfw m

7^

77.

GnRH, a hypothaiamic hormone, needed in
reproduction, acts on;

posterior pituitary gland and stimulates
secretion of LH and relaxin.

(2) anterior pituitary gland and stimulates
secretion of LH and oxytocin.

(3) anterior pituitary gland and stimulates
secretion of LH and FSH.

(4) posterior pituitary gland and stimulates
secretion of oxytocin and FSH.

74^ Which of the following facilitates opening of
stomatal aperture ?

(1) Longitudinal orientation of cellulose
microfibrils in the cell wall of guard celk

^ (2) Contraction of outer wall of guard ceUs
Decrease in turgidity of guard celb

(4) Radialoiicntationofcellulosemicrofibrils in
tlie cell all of guard cells

The genotypes of aHusband and Wife are I'̂ l®and
I^i.

Amongthebloodtypesoftheirchildren,howmany
differentgenotyjies and phenotypes arepossible ?

(1) 4genotypes; 4phenotypes

P) 3 genotypes; 3 phenotypes

(3) 3 genotypes; 4 phenotypes

(4) 4 genotypes; 3 phenotypes

Plants which produce characteristic
pneumatophores and show vivipary belongto:

(1) Hydrophytes

(2) Mesophytes

(3) Halophytes

(4) Psammophytes

lexander Von Humbolt described for the first
time;

Population Growth equation

(2) Ecological Biodiversity

(3) Laws of linuting factor

(4) Species area relationships
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Wgjy^DNA replication in bacteria occurs:
(1) Just betore transcription
(2) During Sph«ae

Withm nucleolus

(4) Prior to fission

|Hindi*Engi

78. t:
(1)

(2)

(3) efifS^ %3l'«
(4)

79. MALT "35^
TJt^traft?

(1) 10%
(2) 50%
P) 20%

(4) 70%

80. ^>Wgtrd<^l *f t ?
Vr

sgcp^
3TO4iiirH+ ••^4

81.

(1)

(2)

(3)

(4)

WT sSk m^' \'5RI
w •^n I ?

(1) rji«j\rM=(-.
(2)

(3)

(4) 3iMn

MALT constitutes about
Ivinphoid tissue in human body.
(1) 10%

(2) 50%

<?} 20%

(4) 70%

percent ofI

In Bougainvillea thorns are the modifications o;
(1) Leaf

Stipules

(3) Adventitious root
(4) Stem

§1^ t iuit and leaf drop at early stages can be preve.
^ by the application of:

(1) Gibberellic acid
(2) Cytokiruns
(3) Ethylene

Auxiitf

Which ofthefollowing arefound inextreme s.
conditions ?

1/3;
i( ^ e;?n3lf T( ^ t ?

(1)

(2)

(3) TjoNetf^n
(4) iimtiNztftzn

82.

83. WR ^ ?
(1)

(2)

(3)

(4)

84. •'JTTtrsr
ajT^ W. 1? ?

(1) •^iHtSS

(2)

(3) TJ^ffHT^n^
(4) ^

(1) Mycobacteria
(2) Archaebacteria
(3) Eubacteria
{4} Cyanobacterk

Coconut fruit is a:

(1) Capsule

(2) Drupe

(3) Berry

Nut

The DNA fragments separated on an agaio
canbevisualised after staining with;
(1) Etiiidvum bromide

Bromophenolblue

(3) Acfctocarmine

(4) Aiviline blue
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85.

86.

87.

88.

^'tRt^nh%X Y"5"?
%#fl
•gj^ ^n9JT ^ ^?lft$T %sfk ^RrTi %I

X= 24,Y= 12 STFi if
>i4i ^"Icil

ar^jT ^ Tf "g^ ^ 11

(2) X= 12,Y = 7

(3) X= 12,Y = 5

(4) X=24,Y = 7

"TOf^^ *TR '^'

tS alft 3TOT Mm • '̂
% ^iT«r "ttcft ^ I

«<iw[^«h "'Rrf^niT "jes MFt

cr^ ^ WN % iira ti

HyPd^T ^ »TPT Tf

arsR

STF^ Wt# ^-srq^ fRn t ?

(2) «birvict>|itT2=f
(3) tTTO =Fttll^ •

(4)

PHHrdHstd if ^ ^ ^ % ^kR

^ ^ ^yfclT %?

•^TEpn —» ^

fcCHI-fll —> —» 3irHiqt<(l

•yEFR^1W=TferfWl

—»"^<<<:|i=moi —> •JHrHiq^TT

f5?r# ^ ^

-¥ SRqTgwr

WFT ^1h rcjfHMiJ -> r^cdl

(1)

(2)

(3)

(4)
—> —> 3lrme»««4l

'̂1, 3<Ri"'H^5( "3181 IHc^ •JlfqqlvJII %chK"! ^[?n %,

(1)

(2)

(3)

(4)

«»)irjf|«tv| 3l<qoni

(3 Out of "X' pairs of ribs in humans only T' pairs are
true ribs. Selectthe option that correctly represents
values of Xand Yand provides their explanation:

(1) X= 24,Y = 12

(2) X= 12,Y = 7

P) X= 12,Y = 5

(4) X= 24,Y = 7

True ribs are dorsally
attached to vertebral column

but are free on ventral side.

True ribs are attached
dorsally to vertebral column
and ventrally to the sternum.

True ribs are attached
dorsally to vertebral column
and stemiim on the two aids.

True ribs are dorsally
attached to vertebral column

but are free on ventral side.

Myelin sheath is produced by:

(1) Osteoclasts and Astrocytes

Schwann Cells and Oligodendrocyfes

(3) Astrocytes and Schwann Cells

(4) Oligodendrocytesand Osteoclasts

Which of the following options gives the correct
sequence of events during mitosis ?

(1) condensation —> arrangement at equator —>
centromere division —> segregation ->
telophase

(2) condensation —» nuclear membrane
disassembly crossing over —>
segregation —> telophase

condensation -> nuclear membrane

disassembly —» arrangement at equator
centromere division —» segregation —»
telophase

(4) condensation —> crossing over —> nuclear
membrane disassembly —» segregation —>
telophase

lisease caused by an autosomal primary
non-di^unction is:

•—(I) - Sickle Cell Anemia

(2) - Down's Syndrome

P) • KUnefelter's Syndrome

j^^'^umer'sSyndrome

"c.

Pim
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89.

90.

91.

92.

^ab< +Yi(|sbl^

iiRrMWWnC

18

(1)

(2)

(3)

(4)

^fTTsft^^?

(1)

(2)

(3) ^

(4) '9^ ^

^ft5fn(^iTHt)^WftftsRf^k|:i
if "w t w=mWi ^

1 : 2 : 3 11 flHt ^ ^ "5?^ if "q^,
•#^r5F! ^ ftsro^ k'^ •arq if m

k"tl 31^ k'•, k" •^ :
(1) 1:14

(2) 1:6

(3) 1:9

(4) 1:11

rHHir<*>ci

700 K
500K

300K

f^^?ifzn^ti

RnldfUrd if ^ fHciii :

<<iThh-i

P. y*Mi a.

Q- yshHD b.

R. "asBHin c.

S. irawiv d. wrrfN

(1) p->d. Q->b, R-^a, S-»c

(2) P-»a, Q-4C, R-» d, S-*h

(3) P-^c, Q-»a, R-» d. S-^b

(4) P-»c, Q^d, R-»b, S d

iHindnEng^

Which cells of 'Crypts of Liebcrkuhn' secret
antibacterial lysozyDic ?

(1) Kupffercells

(2) Argentaffin cells

_--(35' Paneth cells
(4) Zymogeri cells

jMX^Whirh one of the following is related to Ex-sit
conservation of threatened animals and plants ?

(1) Himalayan region

Wildlife Safari parks

(3) Biodiversity hot spots

(4) Amazon raiiiforest

Aspring of force constant k is cut into lengths
ratioj ;2:3. They arc connected in series iuui tl
newTorce constant isk'. Tlien they areconnectcd
parallel and force constant is k". Thenk': k" is :

(1) 1:14

^ 1:6
(3) 1:9

(4) 1:11

Thermodynamic processes are indicated m t
following diagram.

TOOK
500K

300K

Match the following:

Column-1 Column-2

P. Process I*. a. Adiabatic

Q. Process n b. isobarit

R. Process HI cN Isochoric

S. Proc^IV d Isothermal

a) P^d. Q-^b. R —> a, S-»c

(2) P -» a, Q -» c, R-^d, S-»b

(3) P^c, Q-»a, R-^d, S-»b

P-»c, Q-^d, R->b, S-»a
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^x^3qT3T3Ri^%(fimrfb'^fW^ti
"srsFTT ^RuiihI fWrq ^ ^ -avsif (-q^

(^) 2 "5^ "jii '̂H

(2) 4ii=n^^n^

(4)

19

94. •#Tf f?Rf m TpitTT^ ^ "qnt arffw
•TFnti ^ "qnt ^ tr^ 'q:^

?cRT '̂ 51^ Tmr t •%-5^ "=1# if % c!^
10 mm ^ ^ •^jmr t cr«n ^ if "qnt ^ cm

cT?f ^ 65 ram "Sv^ '̂ fTfJI %I (

: 10 mm

65 mm

---mf^'ara^
65 mm

93.

94.

Acapacitor is charged bya batterj'. Thebatteryis
removed and another identical tuuiiarged capacitor
isconnected inpaiaileL The total electrostatic erwrgy
of resulting system:

(1) increases by a factor of 2

(2) increases by a factor of4

(3) decreases by a factor of 2

(4) remains the same

A U tube with both ends open to the atmosphere, is
partially filled with water. Oil, which is immiscible
with water, is poured into one side until it stands at
a distance of 10 mm above the water level on the

other side. Meanwhile the water rise-s by 65 mm
from its original level (seediagram). The density of
the oil is:

Pa Pa

Oil

6

F
-

c *10 mm
hi;

b
• -"-Final water level

.._

65 mm

---Initial water level

65 mm -

I i " C

^-/Water

-3(1) 928 kg m

(1) 928 kgm"3 (2) 650 kgm"^

(2) 650 kgm~^ (3) 425 kgm~^
(3) 425 kgm~'

(4) 800 kg m~^
t

(4) 800kg m"'

sJoHHH mt^'^fFT (%f^) clNTi^
'3IH % '?n«l >S5'*n<4 %I <4,1 ^-50^

(TPT^ :

(1)

(2)

(3)

(4)

2h

VmkT

h

VmW

h

3mkT

VBrnkT

95.^ The de-Broglie wavelengtiiof a neutronin thermal
equilibrium with heavy water at a temperature T
(Kelvin) and mass m, is:

a)

J2^

(3)

(4)

2h

VmkT

h

v/rnkT

h

•J3mk1'

2h

V3mkt

3'
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The acceleration due to gravity at a height 1 km
above the earth is the same as at a depth d below the
surface of earth. Then:

1 km cq<,«i ^ hn e»^

(1) d == 2km

(2) d =ikm
2

(3) d == lkm

(4) d
3,

= -km
2

^_jiP ^ ^ %XfTOT 1/
sFiW: x=5t-2t2craTy=10tt(^j:?T«ny'^'2f
a^t'^^'cft)! t=2s^'3H^^c^

-8m/s2
(2) 0
(3) 5 m/s2
(4) -4in/s2

98. '5c^T5N) tjiTitw ira^^v %
ftRf % 3 V 11 ^

3lfcRm 3 kn tl ^-cTf^ 100 cI?!! arWR ^

2 kn t ^ TFaiT ?Tf^-

c7f^ % "iTH #t :

(1) 20 3ik2000
(2) 200 1000

(3) 15 200

(4) 150 3^k 15000

99. 3?^ #1 cnff •nf
tl ^ ?TR w ^ (^) % sfR:

^ 'V fq^fl^TRT yqil^a ^ %1f'T
clHf % ^ ftaiti, ^ 'B' ^ TK
^ ^ ^ ^ mRhI"! ^ :

B
-©

"^90°

(1)

(2)

(3)

(4)

•Jlvd

2mi

• 2
2>^oi

Trd

^V-O
Trd

:2

96.

(1) d=2km

(2) d=ikm
2

(3) d = lkm

(4) d=—km
2

The Xand y coordinates of the particle at any time
areI =5t- 2t2 and y=lOt respe^vely, wherexand
yareinmeters andt inseconds. The acceleration of

particle at t=2s is:

-8m/s^

9^.

99.

(1)
(2)

(3)

(4)

0

5 m/s^
-4 m/s^

In a common emitter transistor amplifier the audio
signal voltage across the collector is 3 V. The
resistance of collector is 3 kfl. If current gain is 100
and the base resistance is 2 kfl, tite voltage and
power gainofthe amplifieris:
(1) 20 and 2000

200 and 1000

(3) 15 and 200

(4) 150 and 15000

An arrangement of three parallel straight wires
placed perpendicular to plane of paper carrying
samecurrent'I' along the same directionis showr
in Fig. Magnitude of force per unit lengthon the
middle wire 'B' is given by:

B

^90"

A(fe

(1)

(2)

(3)

(4)

.2
M-qI

V2xd

• 2
»^D>

2ird

2>i-oi^
ird

^/2^toi^
TTd

1
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(1) 37^-#tl

(2)

(3)

(4)

101. ^ tl
'3^T%T T3=F ^ 4#f1^t! "qf^

^ (1%m)-tR1^W ^ 10 J^ cii, fTR fTFf
^ ^ ^qjjUr^a ^ ^ "5t^ :

(1) 100 J

(2) IJ

(3) 90J

(4) 99 J

102. 250-^ ^ T^ ^ gt^trf 2.1 cm
^ 1.25 cm tl 85 fxA ^ 1^ VRI

^TSf •^i^fnci fwiTT »imi %I STT^ % "fH
% 180° ^ fCR^ %1^ 3TT5I9q^ -gjpf ^ •HH

^ :
(1) 1.15

(2) 9.1 tij

(3) 4.55

(4) 2.3 J.J

103. ri*-iiltbci ar^^af tf fHi'WA" "spte anrf^f^ sfpw^
t?

(1)

{2)

0)

(4)

3V

ov

-4V

-2V

W
R

AWV^

R
-VV\A-

R
-AVM^-

R
-\^W-

5V

-2V

-3V

+ 2V

104. ^WC M ^ aif^iT c!T|̂ lT8iI cnfiR M ^ arf^rR
WT^ ^ arjqicr t:
il) 0.5

(2) 2

(3) 1

(4) 4

• • -7" '• rr h-'igf

U-V;

100. Two astronauts are floating in gravitational free
spaceafterhavinglostcontactwith theirspac^hip.
The two will:

(1) will becomestationary.

(2) keep floating at the same distance between
them.

(3) move towards each other.

(4) move away from each otfier.

101. A camot engine having an efficiency of — as heat

^gine, is used as a refrigerator. If the work done on
the system is 10J, the amount of energy absorbed
fromthereservoirat lowei' temperatureis;

(1) 100 J

(2) IJ

(3) 90 J

(4) 99 J

102. A 250- Turn rectangular coil of length 2.1 cm and
width 1.25 cm carries a current of 85 jiA and
subjected toa magnetic field of strength 0.85T. Woik
done for rotating the coilby 180°against the torque
is:

(1)

(2)

(3)

(4)

1.15 tij

9.1 M-J

4.55 nj

2.3

103. Which one of the following represents forward
bias diode ?

(1)

(2)

(3)

(4)

3 V

OV

-4V

-2V

w

R
-AWV^

R
-VW^

R
-MMV-

R
-VW.^

5V

-2V

-3V

+2V

Th^ rati^pf wavelengtlis of tl^e last line of Baimer
seriesand the last line of Lyrryan seriesis: |

(2)

(3)

(4)

0.5

2

1

4

t-
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105.

106.

107.

22

aiftr T33r 3Tj^-^gt f I "gcil^ nfrTfr^j^F ^
3rf^^, R=9.0fl, yci)«t> L= 2.0mHt
TTSn •SFTc4l^<* «ld, e=18Vtl tft,

#n :

+
e -r

(1)
(2)
(3)
(4)

R

2inA

0.2 A

2A

:r :r

O r

gL =^C

^ "5^ A <I«IT B%7oi4HH, 3m^«n m 11 ^
2RNHTfT3;^^5!mT=T#T, STi^cTRT^^'^tl
f=ra?Fi 3^ Tf Tj^ 375?n^
fem(^^)iRicii'hmtftt11

U\\\\S\\s\\\\\

1 A l3

5 m

m

a)

(2)

(3)

(4)

(1)
(2)
(3)
(4)

g

3

i
3

-f

f-
g'g

16 T7 |i.C

32-n-M.C
16 nC
32|xC

f0.1 m^ I§^A tiR %r
^ TTTsin 2x 10^ "5t^ irtST 11 "rET%
0.01 m 1^13^ cf«n 100 M BIT^ 1337 -g^

I ^rfFTif^^TrW
ij,-* rw5[T ^ ^ ^ "sncn

t 3% 0.05s 4A•^^^"STlcTT tl "qf^, -gn
"5lf3ft^ 10 TT^ ft f cTt, fH 3T^^rn?[ if ^ 3J^Tf|cr

STT^ :

• 111

105.

106.

107.

|Hiodi->Engllsh|

Figure shows a circuit that contains three identical
resistors with resistance R = 9.0 fl each, two
identical inductors with inductance L = 2.0 mH

each, and an ideal battery with enif e = 18 V. The
current 'i' through the battery just after the switch
dosed is,

+
e -r

(1) 0 ampere

(2) 2ntA

(3) 0.2 A

(4) 2A

:r :r

ic

Two blocksA and Bof masses3m and m respectively
are connected by a massless and incxtensible string.
The whole system is suspended by a massless
spring as shown in figure. The magnitudes of
acceleration of A and Bimmediately after the string
is cut, are respectively:

(1)

(2)

(3)

3 m

m

I S
3' 3

I-
(4) g.g

A longsolenoidof diameter 0.1 m has2 x lOl turns
per meter. Atthe centre of^e solenoid, a coil of
100 turns and radius 0.01 m is placed with its axis
coinciding with the solenoid axis. The current in
the solenoid reduces at a constant rate to OA from

4 A in 0.05 s. If the resistance of the coil is 10

the total charge flowing through the coil during this
time is:

(1) 16'TT|iC

(2) 32 -IT JJ.C

(3) 16 M. C

(4) 32^.C
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108. Aphysical quantity ofthe dimensions oflength tfiat
e2can befonned out of c, Gand ^ • is [c is velocity

oflight, G isuniversal constant ofgravitation and
e is diarge]:

108. c,GW
1T€o

^ ^ ^ 13;^ ^ 1%TT|if

(-ST^ C- -JIW^ %T,

Tlf^tf^ ;

(1)

(2)

(3)

(4) 4

c 4'Treo

4tr€o

4'lT€n

G 4itco

/2

(1)

(2)

(3)

(4)

-G —
c 4ire,0

4™0.

4ir6o

G 4Tr6o

K

K

/a

109.

^ ^ ^-TTTe!T-ip TTH, =6V/m t til
^ ^ TTH t:

(1) 4.23x10-8 7

(2) 1.41x10-8 T

(3) 2.83x10-8 T

(4) 0.70x10-8 T

110. ^ oFI 3jfrRf«J 'R' 3TtTT 11 ^
^iflf t afk^'n'
m ^ •3fRfT 11 ^ ^ ^ :

(-id9. In anelectromagnetic wave in free space the root
mean square value of the electric field is
E—= 6V/m. Thepeakvalueof themagpetiG^eW
•^nns

is:

(1) 4.23x10-8 T

(2) 1.41x10-8 T

2.83x10-8 T

(4) 0.70x10-8 T

c ^ fSlS'2'i'An?
. >j '

3^1 -
M

lip/ The resistance of a wire is 'R' ohm. If it is melted
and stretehed to'n' timesitsoriginallength,itsnew
resistance will be:

(1)

(2)

(3)

(4)

R

n2

nR

R

n

n^R

R

^nR

f
(4) n^R

111. Xi=4000AaikA^^6QOOA%
u^wihr ^ ^IJIT The ratio of resolving powers of an optical

microscope for tx\'o wavelengths Xj =4000 A and
Xj =6000 Ais:

(1) 16:81
0) 16:81

(2) 8:27
(2) 8:27

(3) 9:4
(3) 9:4

(4) 3:2
3:2

1, ,

5

•iiB iki flirl* i
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112.

113.

24

1.42 y.«h Hrt^ fy^ «ti| •alHqtf'*!

^lO'tl ^ 1.7 a^Mctfiifch % ^ ^ ^

rc|^d'i<r^d hR^IMUI llcTT tl fir3q cRT

3iyqcf«h :

(1) 10°

(2) 4-

(3) 6"

(4) 8°

tMriW Pj ^8n Pj^ WR w t •%,
3^9 3WlifW^fl P^ ^ SflW ST^f^ lTg?m
^cftMTiQti p^ ^P2%^jfT3:gr3i^TiW^
P3 3?^ VSl t f^ 3T?r Pj ^ ^
45° ^ "*^"1 «ina1 f I cf[, Pj^ HK'm y=tiKi ^ dlsicii
t:

(1)

(2)

(3)

(4)

la.
16

Ifl-
2

lo
4

k.
8

112.

113.

|Hlna*Engiis

A tilin prism having refracting angle 10°is made t
glassofrefractiveindex1.42. Thisprism iscombine
with another thin prism of glass of refractive indc
1.7. This combination produces dispersion withoi
deviation. The refracting angle of second prisi
should be:

(1) 10°

(2) 4'

(3) 6-=

(4) 8°

Two PolaioidsP, and Pj are placed with their ax;
perpendicular toeach o^er. Unpolarised light 1q :
incident on P^. A third polaroid P3 is kept i
bet\veen Pj and Pj suchthat itsaxismakesan angi
45''withthatofP]. The intensity of transmitted hgl
through Pj is:

(1)

(2)

(3)

(4)

II
16

k.
2

ii
4

k
8

114. ^ ^ %cT Tfrq % t^Wirfl- XTSF^
•^«f t, if
,trm t r

(2) ^

(3) f^H '̂SmcTT

(4) ^ ^ % |jc(lfed ^ ^ 1^

115.

Pl4>(i^#T1^^ 3{|<^rTl'4TsFm: 220Hz
260 Hz ^"Sf ^ Pi'+ifil ^ |ct>cfil '̂ Wt ?

11^ A potentiometeris an accurate and versatile devic
to make electrical measurements of E.M.F. becaus

the method involves:

'!) a combination of cells, galvanometer an
resistances

(2) ceUs

(3) potential gradients

(4) a condition of no current flow through th
galvanometer

The two nearest harmonics of a tube closed at on

end and open at other end are 220 Hz and 260 Hi
What is the fundamental frequency of the system

a) 40 Hz (1) 40 Hz

(2) 10 Hz 10 Hz

(3) 20 Hz (3) 20 Hz

(4) 30 Hz (4) 30 Hz
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116.

^ ^ tWaiTgr 4^Hdd ^ TTT TH
% ^TTO qiici^-i L % ^ ^

(••^cH) 'y=h'Ri • '̂ial "t1
^ 3T^ 6 1^ ^

^ y ^ ^ 11 0 ^ TB
^ :

(1)

(2)

(3)

(4)

*

y

y_
2x

I
X

X

¥

117. 1^ ^d<=l4>

A.
B.

(1) NOT^tz

(2) AND ^

^) OR Tie

(4) NOR ^

118. f^^^M^TO3TT^'nf^^37F!im3cmtl
ira'qF^'ST^ tntzTftsTRr^

mRmIUI, c5R0T%^^W1^
tl awhTTFT C^SF^^f) t:

(1)

(2)

(3)

(4)

27T

s

s
, 2-

4it

Is

116. Abeamoflightfroma sourceLisincidentnormally
on a plane milror fixed at a certain distancex from
the source. Tlie beam is reflected back as a spot ona
scalepIacedjustabovethesourceL. Whenthemirror
is rotated through a small angle 6, the spot of the
lightis found to move througha distance y on the
scale. The angle 6 is given by:

(1)

(2)

(3)

(4)

X

y

2x

y

X

2y

117. Thegivenelectrical networkisequivalent to:

YA
B

(1) NOT gate

(2) AND gate

P) OR gate

(4) NOR gate

118. Apardcleexecutes linearsimpleharmonic motion
with an amplitude of3 cm. When the particleis at
2 cm from the mean position, the magnitude of its
velocityis equal to that of its acceleration. Then its
time period in seconds is:

(1)

(2)

(3)

(4)

217

V3

yj

2-

4-

71

I tiifttriii
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(•^icidl •efcrl^
"TC "Sffl^, •i««ti1 "TC -cic^fl %I '5^
tjTmwmitl <i\'̂ M'if^

t2'wi'cf'^'qf^wi^
t^,-5^^ ^ TR ^ ^ ti

"JfTR^ #n ;

a) ti-t2
ti+t2

[Hii^*£ngli^r

Preeti reached the metro station and found that the
escalator was not working. She walked up the
stationary escalator in time tj. Onotherdays, ifshe
remains stationary on the moving escalator, then
theescalatortakesher up in timet2. Tl\etime taken
by hertowalk upon themoving escalator willbe:

(2)

(4)

2

tit2

t2-ti

^1^2
t-,+ti

120.

121.

) %"51^ 3Ti^ aqrro mRT11
IWT^ 378J, •# ^

t 3?|T; •;& Tproft t %^TfcT:,

% iFS*'i[ wzn 11^,

^rSR7^ ;

a)

(2)

(3)

(4) 1(^1-0)2)2

T^ % TJ^T fqSFI "^f T ^ ^ 2 ^ W
4''^3TFh%lfl Wtn % fg^TiRTf •^Tpni

^ ^ ^TPrriw •3v3ff:
(1) 11RT
(2) 4 RT
(3) 15 RT
(4) 9 RT

•fWpiMhr "Pt^ ^ 3TRRn •sc^m^Rn 'B'11 w
^ 'p' WMi "STrar 11 xf

f^JHkMch :

(2)

(3)

(4)

g(W] -M2)^
1 2
- I (wi +0)2)

1 I(0,1-(02)2

3B

£
B

_B_
3p

B

(1)

(2)

(4)

tj t2

tl+t2

2

t2-ti

Jlt2_
t,+tn

120.

121.

Two discs of same moment of inertia rotating about
their regular axis passing through centre and
perpendicular to the plane of disc with angular
velocities Wj and <j)2- Theyare brought intocontact
face to face coinciding the axis of rotation. The
expressionfor lossofenergydurmg this process is:

(1) 1(0)1-0)2)2

(2)
1
- I(liJi+0)2)'

(3) i 1(0)1-0)2)
4

(4) I(o>i-o,2)2

Agasmixture consists of2moles ofO2 and4moles
of At at temperatureT, Neglecting allvibrational
modes, the total internal ene^^f^the system is:
(1)

(2)

(3)

(4)

11 RT

4RT

15 RT

9RT

pv

IMX Thebulk modulus of a sphericalobject is'B'. Ifit is
•c; subjected to uruform pressure 'p', the fractional

decrease in radius is :

(2)

(3)

(4)

3B

£
B

_B_
3p

B
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123. I i<qi ^(1 % 'm' R«4H!i

y.«h ^Hdd A>>l

V ^ ^ t cit, ^ TTT ^ ^ %S ^
sffT) #n : (T-T^^Tmt)

27

124.

(1)

(2) T

(3) T +
mu

(4)

(1)

(2)

(3)

(4)

T-
my

~r

3 kg W 40 cm

30N%^lKT'^^'^"?Tt, IWFST^eprqt^
f^nn ?

5m/s2

25 m/s2

0.25 rad/s2

25 rad/s^

125. 3?k'fiRf^37=q

8^ Bh'Jl cT^n ^15 '̂ " 5^ 3Rh^ fSP^ T^ ^
f I cfr, ^ :

(1) 1.78

(2) 1.25

(3) 1.59

(4) 1.69

126. CTHll qOlvi^ fV) i<«t> jilcTi 3|1t ^«h
Sl^SRRWtmtl -et3ftT"^mr(e +Ae)
tl ^
•cRiTT^aff^-^Er (^d wrn3%^HTFf^^3Tf!5g?
f) fw afrr ef^-qftqrat (%s)

(tillfRR ^ m^ =1.67 X10 -27 kg)
(1) lO-'^C

(2)

(3)

(4)

10-20 C

10-23C

10-37 C

123. Oneend ofstringoflength115 connected to a particle
of ma^ 'm' and the other end is connected to a small
peg on a smooth horizontal table. If tl\e particle
moves in circle with speed 'v', the net force ou the
particle (directed towards center) will be
(Trepresents thetensionin tliestring)

(1) Zero

(2) T

(3) T +
mt)

(4) T-
mi"

124. A rope is wound around a hollowcylinderofmass
3 kg and radius 40 cm. What is the angular
accelerationof thecylinder ifthe rope ispuUedwith
a force of 30 N ?

125.

(1)

(2)

(3)

(4)

5 m/s2

25 m/s2

0.25 rad/s2

25 rad/s2

Young's double slit experinaentis first performed in
air and then in a medium other than air. It is found
ftat S'*^ brightfringe in the mediumlies where5"'
dark fringe lies in air. The refractive index of the
medium is nearly;

(1) 1.78

(2) 1.25

(3) 1.59

(4) 1.69

126. Suppose thechargeofa proton and an electrondiffer
slightly. One of them is -e,theodieris(e + Ae)- If
the net ofelectrostatic force and gravitational force
between two hydrogen atoms placed at a distanced
(much greater tlian atomic size) apart is zero, then
Ae is of the order of [Given mass of hydrogen
mh= 1.67xl0-27kgj

(1) 10-47 C

(2) 10-20 c

(3) 10-23 C

(4) 10-37 c

^1ill I
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127.

Tra 3?5?TR

^ ^?sin K, ^ Kj tl FI^ ^
'^' =st -entlsfiffl :

^ZTT^wo rods AandBof different materials are welded
together as shown in figure. Their thermal
conductivities are and K2. The thermal
conductivity ofthecompositerod willbe;

(3)

MM
d

(1) 2(Kj+K2)

Ki+K^
(2)

3(Ki+K2)

(4) K^+K2

128. d0lSv4
3250xl0-i"m tl •^, 2536x10"^" m %

•^#n ;

(h = 4.14x JO-^5 eVs ^ c = 3x10» ms"!)

(!) «0.3xlO^ms-'
(2) = 6x105 ms-1

(3) «0.6xl06ms-i
(4) =61xl0^ms-^

129. 22m/s^«ni6.5m/stl

wrgj ^"STTtn t, fsjwt aTT^trr
400Hz 11 ^^^340m/st^,'^^

^ ^ terPj sn^

(1) 448 Hz

(2) 350 Hz
(3) 361 Hz

(4) 411 Hz

130. lW75^5mH^WEif%W-rt^^%, Ikmi^^
50 m/s ^ W ^ tl

^ g'^iTPnOm/s-tWTt^,
(ii) %• "m "m ^ ItTfi:
tl) (i) 10! (U) -8.75J
(2) (i)-iOJ (ii)-8.25J

{3) (1) 1.25J (ii) -8.25J
(4) (i) lOOJ (ii) 8,75J

w
vs:Sii.

(1) 2(iq+K2)

K| +K2

(3)
3(Ki+K2)

(4) K1 + K2

128. Thephotoelectric threshold wavelength ofsilveris
3250 X10 m. The velocityof the electronejected
from a silver surface by ultraviolet light of
wavelength 2536x 10~ m is :

(Given h=4.14 x10" eVs and c=3xlOSms"^)
'0.3X10^ ms"^

129.

(1)

(2)

(3)

(4)

o6xl0®ms ^

«0.6xl0^ ms"^

= 61x10-^ ms~'

Two cars movii^g in opposite directionsapproach
each other with speed of 22 m/ s and 16.5 m/s
respectively. Tlie driverofthefirst carblows ahorn
havinga frequency 400 Hz . The frequency heard
by thedriverofthesecond caris [velocity ofsound
340 m/s]:

(1) 448 Hz

(2) 350 Hz

(3) 361Hz

(4) 411 Hz

130. Considera drop ofrainwaterhavingmasslgfallii\g
from a height of 1 km. It hits die ground with a
speed of 50 m/s. Take 'g' constant with a value
10 m/s2 . The work done by the (i) gravitationaJ
force and the (ii)resistive forceofair is;

(1) (i) 10 J (ii) -8.75J

(2) (i) -lOJ (u) -8.25)

C3) (i)1.25J (u) -8.25J

(4) (i) 100J (ii) 8.75 J
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131. ^ IV*Hl 12cm f I •'Tf500K''IT
450 ^ <ifw *<dl %I ^
a^M (1/2) W tlN ^ ^ IP ^ 1^ ^ ir

(1) 1800
(2) 225
(3) 450
(4) 1000

132.

20 V 40V 20V 40V lOV 30V

lOV 30V lOV 30V 20V 40V

(a) (b) (c) (d)

3T?^ KRTri?^ ^ A ^ B ^ ^ ^

f I •(ft, ^f,

(1) 3Tft75(b)"n5Rf^^^HR^^^•q^l
(2) (c) 3rfiT^cP=f ^
(3) Mi'lll
(4) (a) ^ #n I

133. iHH'ff^ ^ f ?

(a) 'Pfe ^ 3lk'3^FRn S04IMH %=?(
«Hia1 ^ f I

(b) f^f^m^'S3!ERH%:?g?:f^t^TTT-pT5
V( RTt ^ ^ SIT^^ 11

(c)

^;3if?T,3raTR ^ 11
(d) 'Tff^ ^»T ^ 1TF TJ3T (1) ^ Siflrar ^ ^

cTIf^ W t ^ 3Mm ^ 3?r4T^ "^Ffl

W «<t>ni %I

(1) ic)-m(d)

(2) (b)^}m(d)

(3) (a)^f!n(b)

(4) {h)n^(c)

134. •qft ^ ^ WIcff -if iffaiRT
simrat (•=#) "57m e, cT«n ejt t^i,
Wr e ^ WT1^ ^mhRcr •SFFci ?

(1) tan^e = tan^Oj - lan^92
(2) cot2e =cot2ei +cot292
(3) tan^e = tan^j + tan292
(4) cot^6 =cot^6j-cot292

40 V

i'

29

131.

132.

A spherical black body with a radius erf 12 cm
radiates 450watt power at 500K. If the radiits were
halved and the temperature doubled, the power
radiated in watt would be:

(1) 1800

(2) 225

(3) 450

(4) 1000

Thediagramsbelow^owregionsofequipjtentiafe.

20V 40V 20V 40V lOV 30V

10 V .
3ev

lOV 30V lOV 30V 20V «V

(a) (b) (c) (fi)

A positive charge is moved h'om A to B in eadi
diagram.

(1) Maximum work is required to move q in
figure (b).

(2) Maximum work is required to move q in
figure (c).

(3) Inall the four casesthe work done is thesame.
(4) Minimum work is required to move q in

figure (a).

133. Which of the following statements are correct ?
(a) Centre of mass of a body always coincides

with the centre ofgravity of the body.
(b) Centreofmassofa body is thepointat whkh

the total gravitational torque on the body is
zero.

(c) A couple on a body produce both
translational and rotational motion in a body.

(d) Mechanical advantage greater than one
means that small effort can be used to lift a

, large load.

(1) (c) and (d)

(2) (b)andCd)

(3) (a) and (b)

(4) (b) and (c)

134. If fi] and ©2 be the apparent anglesof djp observed
in bvo vertical planes at right angles to each other,
tl\en the true angle of dip 9is given by:
(1) tan^e = tan^9j - tan262
(2) cot^9 =cot^i + cot^2
(3) tan^6 =tan-6^ + tart^2
(4) cot^e =cot^i - cot^flj
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135.

30 iHin{^l*Eng*s^

Radioactive material 'A' has decay constant '8 X.
and material 'B' has decay constant 'A'. Initiall}
they havesame number of nuclei. Afterwhattime
the ratio of number of nuclei of material 'B' to tha

(1)

(2)

(3)

(4)

9\

1

\

7\

J_
8\

if;'A' tIsjT 'B' % ^RfsR" spim: '8

'B' iiF^«tiT "5)t '?n^ ^

136.

+ 2NH3 K,

Nj +Oj^^aNO Kj

Kg

K

rftsRfgr(K)itTIT:

2NH3+^ O2 -2NO+3H2D

(1)

(2)

(3)

(4)

K2 K3/K1

Ki k|/K2
,3KzK^/Ki

K2VK1

137. f«R ^ HI%•«r«r TTTf f ;

(1) ##T

(2)

(3)

(4) f^iTn

138. 1; 1 3TT«fl "q^ %-•
•f^ -sf^w %:

<i)t4Hiri-1

(1)

(2)

(3)

(4)

135.

'A'wiUbeg ?

(1)

(2)

(?)

(4)

9\

1

\

_L
7k

J_
8\

136. The equilibrium constants of the foUowii^ are:

N2+ 3H2^2NH3 Kj

N2+ 02^2N0 Kj

H^+jO^^np K3

The equilibrium constant ^ of the reaction:

K
2NH3+% O2 ^2NO+3H20/ willbe:

137.

138.

(1) kI K3/K:

(2) K1K3VK2

(3) K2f4/K,

(4) K2VK1

The heating of phenyl-methyl ethers with HI
produces.

benzene

(2) ethyl chlorides

(3) iodobenzene

(4) phenol

The most suitable method of separation of 1 : 1
mixture of ortho and para - nitrophenols is:

(1) Steam distillation

(2) Sublimation

(3) Qiromatography

(4) Crystallisation
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139.

31

H3C-C5CH
HgSO.

(A) (B)

(1)

(2)

(3)

(4)

A: H3C-C = CH, B: H,C-C-CH,
I II

OOH

A: H3C-C =CH2 B: H3C-C-CH3

SO4 O

A; HjC-C^CHs B; H3C-C=CH,
I

OH
I

SO^

A: H3C-C-CH3 B: HjC-CaCH
11" ^

O

^ # 3#Tf^ t ?

(1)

(2)

<?)

(4)

!«• O O

H-i

^^rar^IUPACfFrt:

(1) 3-f^-2-^fW^-5-f^

(2) 3-t^-2-y<jd^<Hj-4-f=T^

(3) 5- '+)Tr4<rl^«W-2-^-3-3Tf^

(4)

142.

(1) WT

(3) ^*f-3trfej^^§if3itci

(4) •JrgiwiK

139. Predict thecorrectintermediate and proiuct in the
followingreaction:

^ H,0,H,S0.H3C.—CsCfl — *• intemiediale » product
Hg304

(A) (B)

(1) A: H3C-C = CH, B: H,C-C-CH.

(2)

(3)

OH O

A: H3C-C = CH2 B: H3C-C-CH3

SO4 O

A: H3C-C=CH2 B: H3C-C=CH2

OH SO4

(4) As H3C-C-CH3 B: HjC-CsCH
)i

O

140. Which of the follov,ing reactions is appropriate for
converting aceL-vmide to methanamine '!

(1) Gabriels phthaliniide synthesis

(2) Carbylamine reaction

(3) Hoffmann fiypobromamide reaction

(4) Stephens reaction

The lUPAC name of the compound

O O
II U

H-C.
is,

(1) 3-keto-2-methy[hex-5-enal

(2) 3-keto-2-methylhex-4-enal

5-fomiylhex-2-en-3-one

(4) 5-methyl-4-oxobex-2-en-5-aI

142.--''\^ich nf the following is asink for CO ?
Plants

(2) liaemoglobi}!

(3) Micro organisnis present in the s<jil

(4) Oceans

. i.i L«^_niiii
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143. ^ ^
Pl*-1 ^ ^ tftll ^ «) '̂|| ?

(1)

(2)

OH

(3)

(4)
OH

144. • '̂ ^ 4lP|ct>T % •5T11

0) IF3,XeF2
(2) BeClj, XeFj
(3) Tel2,XeF2

(4) TBrj^XeFj

145. 1li=T3Tfvf?r?n%^

Cu/

/ OH 4
OH. A

O

'NH2-NH-C-NH2
Z

A, X, Y T^si 2 ^ M^TjiPni) :

(2) A-^arfgWq^, X'-^^^Ti^ 37^, Y-'̂ :¥tts
•aWT, Z-!jl§§l'Jlli

(3) X-^«^, 3T^^,
2-^Hl=tn<tifvni5-s

(4) A-t'̂ "^^. X-"^^-^^, Y-szj^^-2- '̂̂ ^,
Z--

143. Of ttiefollowing, which is the product formed
cyclohexanone undergoes aldol conden;
followed by heating ?

(1)

O O

(2)

OH

(3)

(4)
OH

14^,--- '̂'i^ich of the following pairs_pf compour
isoelecb-onic and isostrucSTral ?

(1) IF3,XeF2

BeClj^XeFj
(3) Tel2,XeF2

(4) IBr2,XeI^

145. Consider the reactions:

Y 9^1 . A[Ag(NH3)2r
rr ^>/573K' , -OKA '(qn^O) OKA

-OH, A

Silver mirror obst

O

NH2-NH-C-NH2

Identify A, X, Yand Z

(1) A-Ethanol, X-Acetaldehyde, Y-Butar
Z-Hydrazone.

A-Methoxymethane, X-Ethanoic <
Y-Acetate ion, Z-hydrazine.

A-Methoxymethane, X-Ettianol, Y-Ethf
acid, Z-Semicarbazide.

(2)

(3)

(4) A-Ethanal, X-Ethanol, Y-But-2-t
Z-Semicarbazone.
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146. Which one isthemost acidic compound ?

OH

0,N. -NO,

OH

(1)

(2)

(3)

(4)

OH

CHg

OH

OH

NO2

(1)

NO,

<2)

OH

CH,

OH

OH

V
N02

NOj

147. niH 147. Name thegas thatcanreadily decolourise
KMn04 solution:

(1) P2O5 (1) P2O5

(2) CO2 (2) CO2

C3) SO2 (3) SO2

(4) NO2 (4) NO,

148. 1^"^

(1) CH3-CH3>CH2=CH2>CH3-0CH>
CH^CH

(2) CH2 =CH2>CH3-CH=CH2>CH,-Cs
CH>CH=CH

(3) CH s CH >CH3-C 5 CH >CH, =CH, >
CH3-CH3 ^

(4) CHsCH > CH2 =CH2 > CH3 - CsCH >
CH3-CH3

148. Which one isthe correct order ofacidity ?

0)/ 3i3-CH3 > CH2 =CH2 >CH3-OCH >
CHsCH

tr
(2) CH2 =CH2 >CH3 - CH =CH2 >CH3 - Cs

CH>CHsCH

(3) CH s CH >CH3-C s CH > CH2 =CH2 >
CH3-CH3

(4) CHsCH > CH2 = CH2 > CH3-CSCH >
CH3-CH3
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149. Concentration of the Ag"*" ions in a saturati,
solution of Ag2C204 is 2.2x10-^ mol L"
Solubilityproduct of Ag2C204 is:

(1) 5.3x10-12

(2) 2.42x10"®

(3) 2.66x10-12

(4) 4.5x10-1^

150. With respect to the conformers ofett^e, which
the following statements is"fnje T~

(1) Both bond angles and bond length remaii
same

149. Ag2C204 % ton Ag+ 3TFR ^
2.2X10--'moIL-lfl Ag2C204^fg^tolT^piFT^
t:

(1) 5.3x10-12
(2) 2.42x10-8
(3) 2.66x10-12

(4) 4.5x10-11

150. Tf ^ '̂ TT lTr?I ^ ?

(1) 3T1^ ^ ^ 3TR«I ft

tl

3Tra^ <MyR«?R{a %

HR^lRid ^ti

37R^ qiVi nR^Rffl ^dl %itqfqi sn^ ci*«(i^

3TRII ^ t^' 37ratl cTisnt ^ 11

•?# t:

^<1^1-1 -^n ^•\\r '̂h

:feU|lrH=b 3Tr^fi?Ifl Fft#5T t cT«Tr

i^ofgFT •gn? ^Sim

151.

(2)

(3)

(4)

(1)

(2)

(3)

(4)

152. WITFcrat?

(1)

• srraw

^ •W'hdi tl

^mMd: ^3^r?Thl t W
^ "5^ ^ Tifir 3Ti^

^'^c+idltl

2s

2p -3^ "ticft I

(2) cTFT^^ t \ =JL, ;5r^ JH=^
mu

(3) aqftr '̂iJddl AExAtS^^ I

(4) aH^iPw ^ ^
R^PHHil cSwrf, vitrj yHtMPd, '̂̂ (drt cijc^^i

(2) Bond angle remains same but bond lengt
changes

(3) Bond angle changes but bond length remair
same

(4) Both bond angle and bond length change

^151«^ The correct statement regarding electrophile is :
(1) Electrophile can be either neutral or pcsitivd

charged species and can form a bond b
accepting a pair of electrons froin
nucleophile

El«trophile is a negatively charged specie
and can form a bond by accepting a pair c
electrons from a nucleophile

Electrophile is a negatively charged specie
and can form a bond by accepting a pair c
electrorxs from another electrophile

(4) Electrophiles are generally neutral specie
and can form a bond by accepting a pair c
electrons from a nucleophile

152. Which one is the wrong statement ?

(1) ^ The energy' of 2s orbital is less than the energ
of 2p orbital in case of Hydrogen like atomf

(2) de-Broglie's wavelength is given by \ =
mo

where m = mass of the particle, i' = grou
velocity of the particle.

(3J The uncertainty principle is AEXdktS^_

(4) Halffilled and fully filled orbitalshave greats
stability due to greater exchange energ)
greater symmetry and more balance
arrangement.
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153. Co^"*"

(1) [Co(NH3)g]^+,[Co(en)3p+,[Co(H20)6]3+
(2) [Co (en)3]3+, ICo {NH3)6]3+, [Co (H20)6]3+
(3) [Co(H20)6]3+, [Co{en)3]3+, [Co (NH3)6]3+
(4) ICo (H20)^3 +, [Co (NH3)d3+, [Co {en)^3+

154. WT-I % "jfr^ ^ ^

Correct increasing order for the wavelengths of
absorptionin thevisible region forthecomplex^of
Co3+is:

(1)

(2)

(3)

(4)

[Co (NH3)d3+, [Co (en)/^, [Co CH20)6]3+
[Co (en)3]3+> [Co (NHg)^^+, [Co (H20)6]3+
[Co CH20)6]3+, [Co (en)3]3+, [Co CNHg)^]^^
[Co(H20)d3+. [Co{NH3)6]3+, [Co(en)3]3+

154.y Match the interhalogen compounds of column I
with die geometryin column n and ass^thecorrect
code.

wm-i

(a) XX'

(b) XX3

(c)

X
X 01-

(d) •XX7

^^-11

T-aqiff7i

(iii)

(iv) ^ Wt^

(a) (b) (c) (d)

(I) (iv) (iii) (ii) (i)
(2) (iii) (iv) (i) (ii)

(3) (iii) (i) (iv) (ii)
(4) (v) (iv) (iii) (ii)

155. 3Tr^KT cb|U| 120°%:

(1)

(2)

(3)

(4)

BClg

PH3

CIF3

NCU

156.

NH2 Nb.

oO

(I)

(1) ii<i<m

(2) n<m<i

(3) ni<i<n

(4) in<n<i

NO,
(H)

NH,

O

CH.
(ni)

TT •1. r\

Column I Column n

{«) XX' (i) T- shape

(b) XX3 (ii) Pentagonal bipyramidal

(c) XXg ^) Linear

(<^ XX7 (iv) Square - pyramidal

(v) Tetrahedral

Code

(a) (b) (c) (d)

(1) (iv) (iii) (ii) (i)
(iii) (iv) (i) (ii)

(3) (iii) (i) (iv) (ii)

(4) (V) (iv) (iii) (ii)

155. The species, having bond angles p£ 120° is:

uiy
(2) PH3

(3) CIF3

(4) NCI3

'C-t

15^ The correct increasing order of basic strengfli for
the following compounds is:

NH,

o

(I)

(1) n<i<in

(2) ii<m<i

(4) ni<n<i

NH2 NH2

NO,
ai)

CH,
m

"I. .

tlnMlCr.. . ,„A,rm mi... ..,A..

. A
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Which one of the following statements is not
correct ?

(1) Coenzymes increase the catalytic activity of
enzyme.

Catalystdoesnot initiateany reaction.

(3) The valueofequilibrium constant ischanged
in the presence of a catalystin the reaction at
equilibrium.

(4) Enzymes catalyse mainly bio-chemical
reactions.

157.

(1)

(2)

0)

(4)

"3?^ 'ft 37r»Tf^ ^ TJTW 11

Slf^fshHi % ^ aol<.«ti ^ <shIwRi if
«iitqqt«4i ^'TH nRqRffl ?t^%i

I

158. •^%^37^M^-^'2.5atnifW
3TRrrT 2.50 L ^ 3TRrR 4.50 L

fl'h ii<HK IV<di ^101 %I •!«"5ff nRq^ii
AU, ^ if ^ :

(1) +505J
4 •

(2) 1136.25J

(3) -500J

(4) -505J

159. 20 %"qra ifC02(g) 400 K'Q=f 0.4 atm ^
tf«n 3TlfV^ if SrO (SrO % 37FI?R ^ -JTrrTni -cn^) %|
Mi5( ^ •ilNoi dnlVirt *i<ri ^ f^iTi ^FRO
tl ^if CO2 %^ITH WntTTir
^ •iwictH Sn^lcFT^Pil:

(f^ 'Pn SrC03(s) ^ Sr0(s) +C02(g),

158, A gas is allowed to expand in a well insulated
container against a constant external pressure of
2.5 atm from an initial volume of 2.50 L to a final

volume Qf4.5QL. The change ininternal energy AU
\^rof the gas in joules Vkill be: ^ J j,

0) +505J _

(2) 1136.25 J

(3) -500J

(4) -505J

2^

159. A 20 litre container at 400 K contains C02(g) at
pressure 0.4 atm and an excess of SrO (neglect the
volume ofsolid SrO). The volume of the container is
now decreased by moving the movable piston fitted
in the container. The maximum volume of ti\e

container, when pressure of CO2 attains its
maximum Value, will be;

irC03(s) ^ Sr0(s) + C02(g),Kp=1.6atm) (Given that

(1) 2<rt1idt Kp = 1.6aim)

(2) 5 (1) 2Utre

(3) 10 !rfl« (2) SUtre

(4) 4
(3) lOUtre

160.

(1) fq'JxJlfibiui •5fr ^ 11

(2)

(4) 4 litre

< Which of the following statements is not correct ?

Denaturation makes the proteins more active.
TTm TSRi "^f -^r^ry %

(2) Insulin maintains sugar level in the blood of
a human body.

(3) Ovalbumin is a simple food reserve in egg-
white.

(4) Bloodproteins thrombin and fibrinogen are
involved in blood clotting.
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161. •l^WqfW3TfW^X2+Y2-»2XY^^?'fWy

X2->X + X(^)

X+Y2?^XY+Y (tfriTf)
X+Y^XY(^)

fpni (^) :

a) 1-5
(2) 1

(3) 2

(4) 0

162. -pTCTii t STPn "3^ S-S
a^l5W t?

161. Mechanism of a hypothetical reaction
Xj+Y2 -» 2XY is given below :

(i) X2-^ X+ X(fast)

(ii) X+Y2?^XY +Y(s1ow)

(iii) X+Y —> XY (fast)

Theoverall orderofthereaction willbe:

(i)

(1)

(2)

(3)

(4)

1.5

1

2

0

162. In which pair of ions boBi the species contain S S
bond ?

(1)

(2)

(3)

(4) SjOf.SjO^

163.

(1)

(2)

(3)

(4)

164.

S4OI ,S20f

S2O7 ,8203

S40r,S20f

^2-

N2,02

CO, NO

02,N0+
CN-,CO

(1)

(2)

(3)

(4)

540^ ,S20^

S20p',S20|''

S4O6 '
.2-

S20^*,S20|2-

163;^Which one of the following pairs of species have the
same bond order ?

(1)

(2)

(3)

N2,02

CO, NO

02,N0+

CN-,CO

:

(1)

(2) 4l^glO

(3)

(4)

16^ Mixture ofchloroxylenol and terpineol acts as:
(1) antibiotic

165. 3nsf«H if"CTzMt ^ %ns2_|frl«^«{.T4i %*rpft3[rft ^
t:

Sn2+ 3mf^ii^t^5T^Pb-j+

Sn2+ 3lMtfKT^t'5R%Pb-^+

Sn2+ Pb2+ t 3tM^

(1)

(2)

(3)

(4)

(2) analgesic

•—antiseptic

(4) antipyretic

165. Itisbecause of inability ofns^electrons ofthe valence
shell toparticipate inboiidiivg that

(1) Sn"*"^ is reducing while Pb'̂ "'" is oxidising
(2) Sn^"*" is reducing while Pb^"*" is oxidising
(3) Sn^"^ is oxidisij\g while Fb' is reducing
(4) Sn2+ and Pb2+ are both oxidising and

reducing
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16J>]^For agiven reaction, AH =35.5 kJ mol~l and
AS =83.6 JK ^mol~^, The reaction isspontaneous
at : {Assume that AH and AS do not vary with
temperature)

/56. - 6H-/is
(1) T>298K

(2) T < 425 K

f3) T>425K

^11 temperatures

1^7; Iftnolalityoffre dilutesolutionisdoubled, thevalue
'•'̂ of molal depression constant (Kj) will be:

C(i7^ unchanged

(2) doubled

(3) halved

(4) tripled

Which of the foUowing is dependent on
temperature ?

(1) Weight percentage

(2) Molality

(3) Molarity

(4) y Mole fraction

166. ^ •3=rN%'?n % M-i==35.5 kj mul--'
AS=83.6JK-l mol-l fl 3TfiTfsF?JT WTR xn;

x-^Rri 'f ?

("RR AHT^sf AS 3T3I»?1^ t)

(1) T>298K

(2) T<425K

(3) T>425K

(4)

167. ^ ^ -^mn t fft

(k,) f!^:

(1)

P)

(3)

(4)

168.

(1)

(2)

(3)

(4) TTlcT fv??

169. [Mn(CN).

(1) ^ dip''- '̂tiP.rf ?TSTT %I

{2) ^ sp'̂ d^ "?Tm 11

0)

(4) W d^p-^ rTifT

169. Pick out the correct statement with respect to
(Mn(CN)ftl3- :

(1) It isdsp^hybridised andsquare planar

(2) It is sp^d- hybridised and octahedral

(3) It is sp^d^- hybridised and tetrahedral

(4) It it d^p-^ hybridised and octahedral
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170.

(1) "3^ -siNf^sti "SRI "^jlTcn ^
^1H-1 % 3TR»R ^Hll

itr^ti

(2) FeOo,98 ^ ^ ^ 11

(4) Naa(s) STi^^fT^, teT
n\c\'^, •Wli-if ^ f*Wd 11

171.

ejl^ <=11511 ^ ; .

(1) Hg^I^-I-

(2) Hgl2,l3

(3) Hgl2,I-

39

(4) Hgli ,l3

172. #^T2^'^%fi^?^'£fCN-arnn-^fiT^imWn

17^ Which is flie incorrect statement ?

a) Frenkel defect is favoured in those ionic

compounds in which sizes of cation and
anions are almost equal.

FeOo98 has non stoichiometric metal
deficiency defect.

(3) Density decreases in case of crystals with
Schottky's defect.

(4) NaQ(s) is insulator, silicon is semiconductor,
silver is conductor, quartz is piezo electric
crystal.

HgCl2 and I2 both when dissolved in water
containing I ~ ions the pair of species formed is:

m

Hglj,^

(3) Hgl2,I-

(4) Hgl|-,^

VT^. Extraction ofgoldand silverinvolvesleachingwith
CN ~ ion. Silver is later recovered :

(1) Zn ^ (1) displacement with Zn

(2) V, liquation

(?) (3) distillation

(4) W«C1 (4) zone refining

73. %^CoCl3.6NH3,CoCl3.5NH3,CoCl3.4NH3^
ifAgNO^ %

AgQ jFiT^nRT: %:

(1) 2Aga,3AgaiAgCl

(2) lAgCl,3Aga,2Aga

(3) 3AgaiAga,2Aga

(4) 3AgCl2Aga,lAga

173) The correct order of the stoichiometries of AgCl
" formed .when AgNOj in excess is treated

with ti\e complexes; C0CI3.6NH3, C0CI3-5NH3,
C0CI3.4 NH3 respectively is;

(1) 2AgCl,3Aga,lAga

(2) lAga,3Aga,2AgCI

(3) 3Aga,lAga,2AgCl

(4) 3Aga,2AgaiAga

3



174. A tf«n stfMfdvsII % WR ^ «tdl§^ ;

OCH3

NaNH, ,
£-> A

OCH,

(1) ^8n l^yfd-biijim 3tM^

OCH,

(2) cisn yRiWNH stfttf$7iT

OCH,

40
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Identify A and predict the type of reaction

OCH3

NaNH,

and cine substitution reaction

and substitution reaction

(3)
NH-,

?r«n Pddlm •'rm^ and elimination addition

176.

(1) 4fT3^5d'?<fff^3^3TraTTraTf

(2)

(3) an^rg^

(4) 5f,6d^«IT7s^"^^OTg^^

177. T?:^B(^Z =114^W^^f3nfgTS^^tl
^ TTf^/grf c!Sn f^siTRT
^rTiT ?

(1) ^TTlfRrr IRn] Sf'̂ 6d'0 7s2 7p6
(2) t#3R {Rn] 6d^0 7s2 7p5
(3) [Rn] 5fl46dlO 7s^ 7p2

(4) 3W?m [Rn] 5fl4 6d^" 75^ 7p-'

(4)

OCH

<Tan

175. -qtlw ^ t:

(1) shl«llcr '̂HlH
(2)

(3) Tft '̂nT aifwlgr

(4) MrN

• ^ "qTRT srf^ ^

reacbon

OCH,

(4) and cine substitution reaction

An example of a sigma bonded organometallic
compound is:

(1) Cobaltocene

(2) Ruthenocene

Grignard's reagent

(4) Ferrocene

The reason for greater range of oxidation states in
actinoids is attributed to:

(1) 4f and 5d levels being close in energies
the radioactive nature of actinoids

(3) actinoid contraction

(4) Si, 6d and 7s levels having comparable
energies

177. The element Z = 114 has been discovered recently.
It wiO belongto whichofthe following family/group
and electronic configuration ?

(1) Nitrogen family, [Rn] gdlO 752 7p6
(2) Halogen family, [Rn] 6d'^7s^ 7p^
(3) Carbon famUy, [Rn] ed^^ 7s^ 7p^
(4) Oxygen family, [Rn] 6d '̂' 75^ 7p^
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178. 3TfMf^^lO-2sec-l tl
20 g %5g cfop^fffTTT7
(1) 693.0 sec

(2) 238.6 sec

(3) 138.6 sec

(4) 346.5 sec

179.

(1) U

(2) Na

(3) K

(4) Rb

180. •^%crWRt^:

ZnlZnSO^ (0.01 M)!| CUSO4 (1.0 M)|Cu, W
^"^emfEjti '^ZnSO^'^^fF^tn^l.OM^
vRqfHct ^ CUSO4 ^ ^ 0.01 Md<^i 4rwfHd
•f^^srrartcitemf^f'̂ fT^Ejti

EiT^E2^^t?(f^W, ^=0.059)

(1)

(4)

t"«r TT ••
^ . -I

£2 = 0

Ej = E2
Ej <£3
Ei>E2

-oOo-

•iWlB IMflli •-

41

178. A firstorder reactionhas a specific reaction rate
l~^sec~V

the reactant to reduce to 5g ?

(1) 693.0 sec

(2) 238.6 sec

(3) 138.6 sec

(4) 346.5 sec

10 ^sec How ranch time willittakefor20gof

Ionicmobility ofwhichofthe following allca Ij nutel
ions is lowest when aqueous solution of their salts
are put under an electric field ?

a) Li
(2) Na

(3) K

Rb

In the electrochemical cell:

ZnlZnSO^ (0.01 M)j| CUSO4 (1.0 M)jCu, theemfof
this Daniel cell is E^. When the concentration of
ZnSO^ is changed to 1.0 M and that of CuSO^
changed to0.01 M, theeinfchanges toEj- From the
foUowings, which one is the relationsliipbetween

E^ and E2 ? (Given,— = 0.059)

• (1) £3=0^ El

(2)

E,<E2
(4) E,>E2

-oOo-

Pi

?
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PiHRifhiH saTPf # ^ ;

1. l^'^n^'tRiR^'tr^yiqf, MysFT^amr^r^-'tR
I<<aii<l

2. ^ ^ 3T3iTfn % ^ ^
sm WH H I

3. «t'r4<d ^ arw "qst 1^
%t3; rf^ ^

gju

% dH^ Bttt ^ tftenrr I" alfr''^
^TTtR g>r irm^ TTRT I

^ wrm t i

5. "5^-^ •^" St™ %^
^ f¥Wf •^•WiRT f I arjf^ •iTTiR %

. tTTiT#" ^ ^ %^pmf TT^ W^ %
^T^^TR^PTTI

6. f^«1 WRI ^f 3% "3tIT ^ ^ ^
- <

7. ''Tt9T^R<m/-5^iT5rir'f^TT^TTCr8JT'3fef^lflm
tltr^^jqftqf^-TT^-^f ,

Read carefully thefollowing instructions:

1. Each candidate must showon demand his/her
Admit Card to the Invigilator.

2. Nocandidate, without special permission ofthe
Superintendent orInvigilator, would leave his/
her seat.

3. The candidates should not leave the
Examination Hall without handing over their
Answer Sheet to the Invigilator on duty and
sign the Attendance Sheet twice. Cases where
a candidate has not signed the Attendance
Sheet second time will be deemed not to have
handed over the Answer Sheet and dealt with
as an unfair means case.

4. Use of Electronic/Manual Calculator is
prohibited.

5. The candidates are governed by all Rules and
Regtilations of the examination with regard to
their conduct in the Examination Hall. All cases
ofxmfair mear\s will bedealt with asperRules
and Regulations of this examination.

6. No part of the Test Booklet and Answer Sheet
shall be detached under any circumstances.

7. The candidates will write the Correct Test
Booklet Code as given in the Test Booklet/
Answer Sheet in the Attendance Sheet.
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